. Express 922 + 122 + 10 in the form a(z + b)? + ¢, where a, b and ¢ are not functions

of x.

. Express the following expressions in terms of log(x) and log(y):

(a) log(z?) (b) log(1/2?) (c) log(z/y) (d) log(zy)
. Evaluate

() il 3¢

(b) t+t+ 5+ttt

. Use integration by parts to evaluate fol x exp(z)dx.

. Differentiate

(a) exp(—a?) (b) log(x) (c) log(z?) (d) 2® exp(—2)
©) som@

. Use integration by substitution so show that fol dz = 2log(2)

1
Vz(1+v/2)
. Sketch rough plots of the following functions, indicating at least the point of intersec-

tion with the y axis



